30 L t SV
| 18
ENTRANCE EXAMINATION, 2018 : ENTRANCE EXAMINATION, 20
I
M.A. ECONOMICS : M.A. ECONOMICS
i : U QUBJECT © v oo vemeennm e snn
[ Field of Study Code : ECOM (216) | e Sbudy ety
I
Time Allowed : 3 hours ! FIELD OF STUDY CODE . . . ... ... .-
Maximum Marks : 100 :
' NAME OF THE CANDIDATE . ........
[INSTRUCTIONS FOR CANDIDATES ;
: ----------------- ll
(i) Answer all questions. : l?-,
i |
(i) This Question Paper consists of two ' REGISTRATION NO. ‘ J |
Sections—Sections A and B. :
]
! CENTRE OF EXAMINATION . ........
(iii) Each question of Section—A carries
1 mark. Answer all the 40 questions in :
Section—A in the OMR Sheet (see the |+« o oo oo v v m o
separate instruction). :
1
: BDALE . . . « v 4 6 4 & 5 & ala s @ w e e v oo
; ; I
(iv] Questions of Section—B have to be :
answered in the space given in the :
Question Paper. R B
: (Signature of Candidate)
1
(v} Question Nos. 41 to 49 carry S marks !
each and Question No. B0 carries !
15 marks. b e
| (Signature of Inuvigilator)
I
¥
(vi) Extra pages are provided for Rough !
Work at the end of the booklet. !
]
L e R
: (Signature and Seal of
[ Presiding Officer)
i
1]
|
(200 "' /30-A
collegedunia:s

India’s largest Student Review Platform



1.

SECTION-—A

Question Nos. 1-40 carry I mark ecach, For each wrong answer,

1/4 mark will be deduccted

Okun’s Law states thal the percentage change in real GDP s proportional 1o

(&) change in the unemployment rate

(b) change in the consumer price inflation rate
(c) change in the wholesale price inflation rate
(d) change in the investment rate

In July 2017, Aamir bought a onec-year-old house n Murmhai for € 50 crores. Which of

the following statements is true?

(a) The purchase price of the house is accounted for in the nominal GDP for 2017-18

(b) The purchase price of the house is accounted for in the aggregalte investment

expenditure for 20 17-18

(c) The purchase price of the house is accounted for in the aggregate consumption

expenditure for 2017-18
(d) None of the above

construction of a commercial building in July 2015 for

r (FY) 2015-16 is only able to complete a part of
in FY 2016-17 but, is able to sell it only in FY

A real estate company begins
sale but, at the end of the financial yea
the building. It completes the building
2017-18. Which of the following statements is true?

construction of the building is accounted for on

al accounts only in the year 2016-17

(a) A part or whole of the cost of the

expenditure side of the nation
ost of construction of the building is accounted for o
al accounts only in the years 20 15-16 and 2016-17

r on the

(b) A part or whole of the ¢ fithe
expenditure side of the nation
the cost of construction of the building is accounted fo

(c) A partor whole of
year 2017-18

enditure side of the national accounts only in the
the building is accounted for on the
ars 2015-16, 2016-17 and

exp
le of the cost of construction of

(d) A part or who
al accounts in the ye

expenditure side of the nation
2017-18

What is the maximum value which can be attained by the ratio of the employment rate

to the unemployment rate in an economy?

(a) There is no maximum value for the ratio

(b) 40
() 20

[ P.T.0.
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A Cobb-Douglas production funct

outs capit@ 4. If the marginal producy of

jon with i o O
ua hat is the average pmduct

= . g ital €<

degree 1 and has output elasticity ol Gﬂli_”t?” cr;Uﬂ] to 20, W

labor is 15 at a value of the capit:ﬂl—l&rbf}r 1£1t.|bur-m1j0?

of labor at the same value of the capital-1a

(a} 375

(b) 100/3

(c) 25

(d) SO

.. orowing faster than aggregate noming)
6. Suppose the stock of money in the economy 15 B s necessarily true?
f the following statements

income in an economy. Which o

(a)
(b)
()
(d)

7. The Solow growth model implies that, i

e rate of growth of real output

The rate of inflation must be higher than th

i i in
The income velocity of money must be decreasing

The stock of real balances must be increasing
: i nd
The economy is suffering from a deficiency of effective dema

f the labor force uf' a counfiry is a constant

fraction of its population, ceteris partbus

(a)

(b)

()

(d)

an increase in the growth rate of the labor force has a positive effect on the growth
rate of per capita income in the long run

an increase in the growth rate of the labor force has a negative effect on the growth
rate of per capita income in the long run

an increase in the growth rate of the labor force has no effect on the growth rate of
per capita income in the long run '

an increase in the growth rate of the labor force sometimes has a positive effect
and sometimes a negative effect on the growth rate of per capita income in the long

run

o monetary policy used by the Reserve Bank of India?

(@)
(b)

@

CRR

Quantity of Non-Borrowed Reserves
SLR

Repe Rate
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Q.

10.

11.

Conalder the 18-LM model. Suppose the LM curve is positively sloped. Planned
investment expenditure is exogenously given. Saving is simply an jncreasing function of
equal to

There always cxists a level of income at which saving is

apgropite income,
ports are zZero.

investment. Assume that there is no govern ment expenditure and net ¢x
Which of the following statements is necessarily true?

()  The 18 curve for the cconomy is a horizontal straight linc

(b)  Changes in the quantity ol money have no effect on the equilibrium level of income

Changes in autonomous expenditures have no effect on the equilibrium interest

()
rate
() None of the above

tical result that once-for-all changes in the supply of money in an economy

The theore
alfect nominal variables but, do not have any effect on real macroeconomic variables

including real output i1s known as
(a) the purchasing power parity doctrine

(b) the neutrality of money
(c] the policy ineffectiveness proposition

(d) the Fisher effect
¥ 2 ‘ ey Janitioiines 8 o - .
19 M VAT ahles 1w and W oa .}E= | I-':l. 1k d b i :b.hE' f'DllQWin relatiOHShi :
Three random ﬁaﬂﬂb&“%ﬂ%ﬁ@%‘?ﬁmﬁﬁ Pyee B R
4 e i Yy S 2T
It is known that var (w), the variance of w, is 5. It is also known that cov u), the

covariance of w and u, is 1. What is the covaranee

A
a7

(a) 14

() 9

[PT.0.
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e selected at random, The

4 studen tg A

13. In a class, there are 5 boys and 5 girls. )
. ' v Jet 6L 14
probability that 2 boys and 2 girls are selected

o

() O
(b) 04
(c) 10/21

([d) None of the above
greater than O. P(B), tp,

14. A and Bare events. P(A), the probability of event A, 18 5!:1'10111}" bability of 4 give
probability of event B, is strictly greater than O. P(A]B) 18 e PL> p{ﬁ} Which ofn -
P(B|A} is the probability of B given A. It is known that PA|B < ' e
following statements is necessarily true?

(a)  P(B|A) < P(4)
(b) P(B|A) < P(B)
(¢} P(BJA) 2 P(B)

(d) None of the above

A and B are events. A€ is the complement of A. B¢ is the complement of B. P (4), the

probability of event A, is 0-60. P(B), the probability of event B, is 0-3. Also, P(A U B), the
probability of event A B, is 0:75. Which of the following statements is true?

15.

(@ PANB=0-25
b) PA®~BC)=0.25
(¢ PA“uUB%)=0.25

(d) None of the above

16. The domain of f (%) =2 xlog |x-2| is given by the interval
@ (= QU@ +«)
B) (=2 +eo
€ [2 +e

@) (~e5 +)
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x » t Now suppose 3x + 2yand 2x + 3ywhen

wve integers with
clively. It follows that when x - yis divided

17. Suppose X and yare posit
. r & -
divided by 5, leave remaindera 3 and 2 respe

the remainder necessarily ecquals

by 5,

() 1
by 2
() 3
(d) A

18. Tor n> 1, consider the following two numbers :

"n+7*n—3

0|5 4]

(i) f”—';-ﬁ}

State which one of the following statements is true.

(@) (i) is greater than (i)
(b) (i) is less than (i)

() (i) is equal to (i)

(d) The relationship between (i) and {ii} cannot be determined from the information

given

19. V can take any value (positive, negative or zerd}. U is a function of V. Which of the
following functions is/are monotonic transformation(s) of V?
il u=2v-13
i) u=e"? +v?
(it} u=v?

(@) (i), (i) and (i)
(b) () only

(c) (i) only

(d) (ifi) enly
A student studying the weather for x days observed that (i} it rained on 7 days, morning

or afternoon; (i) when it rained in the afternoon, it was clear in the morning; (i) there
were five clear afternoons; and (i) there were six clear mornings. Then x equals

20.

@) 7
(b) 11
(e) 10
@ 9
11 [P.T.O.
collegedunia:s

India’s largest Student Review Platform



L

Answer Question Nos. 21, 22 a
3 RE " :'t:\rj'
A random variable X has the following probability densit.

21.

22.

23.

24.

flx)=e™" for 0< x <o

fix)=0Cfer x£0

Probability (X > 1} is equal to

(a) 1l/e
(b) 1-1/e
() e?

(d) None of the above

Probability (1 < X < 2) is equal to
@ 1/e

b) 1-1/e

) (/ex{1-1/¢)

(d) None of the above

The mean of X is equal to

@ 1l/e
(b} 1
(c) e

(d) None of the above

: « {0
nd 23 on the basis of the 1 ‘
function -

Let y= f(x), where x€|g b] and b>a, be a cnntinuous]y differentiable function.

Suppose f(x) attains maximum at x = x". Then it is always true that

(@) fix*)=0
(b) f“x*)<0
€©) f'(x")=0 and fix")<o0

(d) Cannoet say

 j30-A

-

T
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25.

26.

27.

28.

n below regarding elements and subsects of the following sct

Four statements are give
S=1{1,2 {12 3}

Only one of thes¢ statements is correct. Which onc is it?

(a) {L2j€S

(b) L2/ S

(c) {L,23tcS

d 3¢S

Let Xy, Xo, % X100 be positive integers such that x; +x;,.; = k for all i and k is a
constant. If x;q = 1, then the value of x, 18
(a) k

(B, k=1

(c) k+1

d 1

A salesman sold two pipes at ¥ 12 each. His profit on one was 20% and the loss on the

other was 20%. Then on the whole, he

(a) lost €1
(b) gained ¥ 1

(c) neither gained nor lost
(d) lost &2

If the short-run average cost curve for a firm is a decreasing function of its output over
a certain range, then in that range we must have

the firm’s marginal cost curve must also be decreasing

()
ge cost curve, assuming that output

(b) the marginal cost curve will lie below the avera
is plotted on the horizontal axis and the costs are on the vertical axis
the location of the marginal cost curve is uncertain since it depends on whether

the firm is a competitive one or not

| the marginal cost curve will lie above the average cost curve, assuming that output

 is plotted on the horizontal axis and the costs are on the vertical axis

e 13 [ P.T.O.
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23

o ) 1 ; o]
29 ot S=1+ L & Lo, Then & 18 equal b
21 W,
S
| S B
jcl &
valué

inite
The sum does not converge to any fim
two tosscs of a fair diey
1

_— P ast Dl‘lﬂe 1
What is the probability of a 4 turning up at le

30.
(&) 11/36
(o) 1/9
(c) 1/12
(@ 1/4

31. A cake has to be distributed between two persons A end. B Amonfai‘zﬂizlslzzfg;: };:;
one is not an efficient distribution of the cake (under the Gtan
‘more is better’ for any person)?
fa) A gets the whole cake
(o) B gets the whole cake
(c) A gets 0-45 and B gets 0-55 portion of the cake
(d] A gets 0-45 and B gets 045 portion of the cake

32. Inan election, 10% of the voters on the voters’ list did not cast their votes and 60 voters

cast their ballot papers blank. There were only two candidates. The winner was
supported by 47% of all voters in the list and he got 308 votes more than his rival. The

number of voters on the list was

(a) 3600
(b) 6200
(c) 4575
(d) 6028
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33.

34.

35.

Answer Qu

In an economy, the agriculture, indu

30 percent respe
annual rates for the next 60 years

A, Band C are three commodities. A packet containing 5 pieces of 4, 3 of Band 7 of C
costs & 42. A packet containing 2, 1 and 3 of A, B and C respectively, costs ¥ 17. The
cost of a packel containing 16, 9 and 23 items of A, Band C respectively, 1s

(a) & 55
by F75
c) ¢ 135

(d) Cannot be determined from the above information

A worker suffers a 20% cut in wages. He regains his original pay by obtaining a raise of

(a) 20%
(b) 22-25%
) 25%

(d) Cannot be determined from the above information

e elements are zero and all even integers, positive and negative.

ii) multiplication; (iv) division;
hen applied to any pair

S is the set whos
Consider the five operations (i) addition; (if) subtraction; (i

and (v) finding the arithmetic mean. Which of these operations w
of elements of S, yield only elements of S?

(@ i) i), @), ()
(b) (i), (@ (i), (V)
(c) ) (D), ()
@ @ @, @

estion Nos. 36, 37 and 38 on the basis of the following :

strial and services sectors have initial shares of 50, 20 and

ctively in the total GDP. They also subsequently grow at the following constant
. Agriculture—2 percent; Industry—S percent; and

Services—6 percent per annum respectively.

36.

Then the annual growth rate of the economy’s aggregate GDP over the sixty years will be
(@) constant from year to year

(b) fluctuating from year to year

() increasing steadily every year

(d) coming down steadily every year
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37.

38.

39.

4 . cars
The industrial sector’s share in GDP over the sixty ¥

(a) will keep on increasing every year S ine
tart declhinin

(b) will increase for the first twenty years and then s .

hough start declining soon afte,

(c) will certainly increase for the first forty years t

(d) will remain constant
ector’s share 1n GDP exceed that of

Starting from the base year, when will the services $
agriculture?

(a) Within the first 15 years

(b) Not before 15 years but not later than 25 years
(c) Not before 25 years

(d) Never

In an economy tending to produce below its maximum potential output In a year, the
government steps up its expenditure by 10 percent but leaves all tax rates unchangeq.

Which of the following consequences of this would necessarily follow?

The fiscal deficit will necessarily increase by exactly the same amount as the

(a)
increase in expenditure

(b) If the fiscal deficit was otherwise going to be 5 percent of GDP in the absence of the
stepping up of expenditure, it would increase to 55 percent

(c) If the government expenditure to GDP ratio was otherwise going to be 25 percent

of GDP in the absence of the stepping up of expenditure, it would increase to

27-5 percent

(d) None of the above

In an economy with no indirect taxes o PR
]}rﬂduﬂtit}f] pnits in a year is ¥ 10,000 croiz:l;bilgéf;l::z Eg;‘:‘:; V':t:lh.:le add.ed by all
firms, which repatriate 10 percent of this value added to then- h il fu‘rmgn ownee
other transactions with the rest of the world are exports of & jﬁme countries. T'hE only
of ¥2,500 crores. Then the GDP at market prices of the ecofo?g Cmre?dm;d peRs
gty wou e

(a) ¥ 10,000 crores
(b) ¥ 9,000 crores
() ¥ 99,000 crores
(d) ¥ 9,500 crores

| o pewen &
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41.

HINOTION- 1
Attempt all gquentions

Question Now, 41 49 cany O omarka each

Question No.
Y000 02 and pr = 0.75p, ,, where p, is the rate
(inflation in period t and u, is the rate of

BO conrien Hh marks

Suppose in an cconomy pe - P

of inflation in period ¢, py is the expected mle o
~). Suppose in period 1 expectations regarding

unemployment in period {(t = 2 & . '
inflation are realized and the unemployment rate in the economy remains constant from
peried 1 onwards. Answer the following (uestions .

What is the value of the inflation rate in period 3 if pq = 0-1287

(&)
rate as t — «o?

0, will the inflation rate in the

(b) What happens to the value of the inflation

(¢) For what value of the inflation
economy remain constant from

rate in period
period 2 onwards?
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y = aggregate in%l;lll
investment r:xpenditur{h

o w0851

SIS o LS £ F L s

4.2 Consider an economy in which €= 220 oy where
’ (2 100+ 027

X = 1400, M =700+0.-08Y and 1 , regate . o
- _ i  aasnmditnie; 4 age” == orts, M :1mports p.
C' : aggregate consumption expencdiiizto — exp ’ + tay
i ':I" L
G @ government expenditure on goods and H{. sercent).
revenues and r : orate ol interest (UHP"“”HMI I FE my?
) . thig ccono
(a)  What is the slope of the 1S curve fo! this lies on the I3 curve, what jq th
: . ) - .
(b)  Assuming that the value of (Y, r) I the ecmqﬂﬂtg of interest 18 3 percent? :
budget deficit of the government when the rat
collegedunia:s
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: ; -5 0-5
ave a Cobb-Douglas production function given by fle, p=x" "4~ .

subsatitution for this production function at x = y= k.

43. Suppose we h
Evaluate the technical rate of

. 1 g
P collegedunia:
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44.

; BN : i i[l]]
In a two-good world, a consmumer’s utility funct

suppose the price of good x in 2 nnd price of pood
H = . 1 1 * Flu
income of € 100. What are the utility maximizing €08

your answer carefully

jin HIVE

en by Ul W=X+y. Noy,
2. 'The consumer haa an

ndles (if any)? E"Plain
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45. Let the probability density function of the random variable X be as féwﬂ :
) flx)=c@x-2x2), if 0<x<2and (i) f(x) =0 otherwise. What 18 the value of f{Ij?

(Note that your answer should not be in terms of c)
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Consider a gambling game where you have (0 th

would gain & 2

that shows up. What is your expected grin or lons 1

for any even number that shows U

oW

rwo fair dice simultaneoualy‘ Yo
p and lose # 1 for any odd Num

. b
om the game? Cr
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47. Let D=a? +b? +¢2, where a and b are successive positive integers and ¢ = ab. Prove
that v D is an odd positive integer.
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48. Consider the following optimization problem : 8
= 1=x=Y=
Maximize f(x, 9’ == x2 = yz gubjﬂct to mx, y’ =1

Find solution to this problem (if any).
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49.  Compute the value of _[I‘““H N)edx, where log x in the natural logarithim of x. IV s known

that log2=~0.693,
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word$s - ‘
n adequate bagiy for

a rc}atmnahlp thy

Answer any one of the following it
Iqultﬂu
in the ir view, could the

Does Ricardo’s theory of comparative

50.
(=) > :
trade liberalization? C;ing*“' expl
" an
a liquidity trap? Explam

(b) How did Raul Prebisch and Hana
developing countries faced in worl b
developing countries reverse this tren wuck in
omy 9
(c) What policy options are left for a closed €cOP yfntrﬂl pank fixes t};(e interest ry,,
What shape does the LM curve take wl'ﬁﬂ ;hininctﬂly policy Wor in such i
w doc

(d)
instead of the money supply? Ho
economy?
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